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QUESTION 1

Consider the scenario that a technical expert accidentally trips over the power cord of a DB2 pureScale cluster node,
bringing the node offline. Assume the cluster contains a SECONDARY cluster caching facility and other DB2 members.
What will be the outcome of this situation if the node was hosting both the PRIMARY cluster caching facility and a DB2
member?

A. The secondary cluster caching facility will become the primary. All client transactions sent to be processed by the
offline server will be re-routed to the remaining members within the cluster.

B. DB2 pureScale cannot host both the cluster caching facility and a member on a single host.
C. The cluster will put all transactions on hold until the server is back online.

D. The secondary cluster caching facility will be in SYNC state. All client connections will be terminated and will need to
re-issued by the client.

Correct Answer: A

QUESTION 2

Consider the scenario of a DB2 pureScale environment with two DB2 members, and assume there is an active
connection to "member 3". Due to some maintenance emergency, "'member 3" needs to be stopped. Which one of the
following commands will stop "member 3"?

A. db2stop force member 3

B. db2stop immediate member 3

C. db2stop node 3 all members

D. db2stop member 3

Correct Answer: A

QUESTION 3
Which one of the following options is CORRECT about Temporal Tables?
A. Temporal tables are complex to maintain and require major application changes.

B. Temporal tables require constant changes to the operating system timestamp in order to navigate through time in the
database.

C. Temporal tables are used to model data in the past and present. They cannot be used to model data in the future.
D. Temporal tables are used to model data in the past, present, and future.

Correct Answer: D
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QUESTION 4
How does automatic storage work in DB2?

A. Automatic storage simplifies storage management by allowing you to specify storage paths where the database
manager can place table space data.

B. Automatic storage is an option which is set when you create a DB2 database. It allows transactions that are executed
to be automatically committed.

C. Automatic storage is a function of DB2 that allows tables to be backed up automatically on a set schedule.
D. Automatic storage allows automatic allocation of free space in memory for optimizing query execution.

Correct Answer: A

QUESTION 5
With respect to DB2 security, what is authorization?

A. Authorization is a process that checks whether you have sufficient privileges to perform the desired database
operation.

B. Authorization is the process where the DBA gathers information to see who will have access to the database.

C. Authorization is the process where the DB2 database checks with Windows security to see if you have access to the
DB2 database.

D. Authorization is a process that validates that you are who you claim to be by verifying your user ID and password.

Correct Answer: A
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